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HAB= (20 9)
A structure is defined as following,

struct student {

char lastName[10];
char firstName|[10];
int studentID;
struct{

char phone[10];

char Addr[30];
char zipCode[5};
}address;

}studentRecord, *studentPir;

Please write an expression that can be used to access the structure members in
each of following. (For example: member lastName of structure student. The
expression will be student. lastName)

(1). member firstName of structure studentRecord.

(2). member studentID of the structure pointed to by studentPtr.

(3). member Addr of structure studentRecord.

(4). member phone of the structure pointed to by studentPtr.

BHEw (155

Please show the value of x after each C statement is performed.
(1). x = 5%2+3%*2-3/3; The value of x is (7)
(2). x = (2*8*(2+(9*3/(2+1)))); The value of x is (?)
(3). x = fabs(-7.4); The value of x is (7)
(4). x = ceil(-7.4); The value of x is (7)
(5). x = floor(-7.4); The value of x is (7)
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Write C statements to print the smallest and largest values contained in
50-element floating-point array a.

AN (10 o)
What does the following € program print?

#include <stdio.h>
int main()
{
intx=3, sum=0,y;
while (x <7) {
y=x*x
printf("%d\n", y);
sum +=y;
++X;
}
printf("The sum is %d\n", sum);
return 0;
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